
UE460−7N

UE460−1N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

04 26s A 630cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.02
A2=0.95=t
A3=0.0
A4=10.0
∆=0.0

UE460−2N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

02 26s Y 630cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.69=t
A3=0.0
A4=10.0
∆=0.001

UE460−3N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

02 26s B 630cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.27
A2=2.54=t
A3=0.0
A4=10.0
∆=0.0

UE460−4N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

02 26s R 630cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.48=t
A3=0.0
A4=10.0
∆=0.0

UE460−5N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

AD 26s G 630cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.01
A2=0.71=t
A3=0.0
A4=10.0
∆=0.0

UE460−6N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

04 26s A 63cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003

UE460−7N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

02 26s Y 63cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.96=t
A3=0.0
A4=10.0
∆=0.002

UE460−8N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

02 26s B 63cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.78=t
A3=0.0
A4=10.0
∆=0.0

UE461−1N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

02 26s R 63cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.87=t
A3=0.0
A4=10.0
∆=0.0

UE461−2N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

AD 26s G 63cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.79=t
A3=0.0
A4=10.0
∆=0.0

UE461−3N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

04 26s A 6,3cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.91=t
A3=0.0
A4=10.0
∆=0.005

UE461−4N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

02 26s Y 6,3cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.9=t
A3=0.0
A4=10.0
∆=0.009

UE461−5N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

02 26s B 6,3cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.82=t
A3=0.0
A4=10.0
∆=0.001

UE461−6N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

02 26s R 6,3cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.83=t
A3=0.0
A4=10.0
∆=0.007

UE461−7N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

AD 26s G 6,3cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=0.76=t
A3=0.0
A4=10.0
∆=0.005

UE461−8N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

04 26s A&G 63cd/m2; pot4
∆L = A4[A1 + A3·L ]t

A1=0.0
A2=1.03=t
A3=0.0
A4=10.0
∆=0.003

A1=0.0
A2=0.79=t
A3=0.0
A4=10.0
∆=0.0


